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2.1 log MN = log M + log N
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frognefi 1 A enFIReUTeENNTS log(Bx+2) = log(x—1)+1

359 log(3x +2)-log(x—1) =1
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f981991 2 2IIANT8Y x NEUNIT 3° = 30 Anuali log 3 ~ 0.4771
3591 270 3* = 30

log 3* = log30
xlog3 = log30

log 30
X =

log3

1+ log3
X = —

log 3

1.4771
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0.4771
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1) mx =10 2) logx = -2
3) log2x =3 4) log(3x+5) =2
5) log2x = log2+5
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1) log(3x+5)+3 = log(2x+1)
2) log(x+2)-log(x+1) =3
3) logx = 1—log(x—9)

o

4) log,3+log,x = log,5+log,(x~-2)
5) log,(x+1)—log,(x—1) = 2

6) log,(x—5)+log,(x+3) =1

7) log,(log,x) = 4

g) 2 = —
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